Euchn somoa Ond res  Le \(k‘é(‘\(-e'c.
(C\\\ﬂ = (l +an b

(Cl"”b) "C\ %Jc'bi.)(’l\a -t b
L _$C%) = £0-)

&
. B i)
FO)=8x+5 ro UEES N
E(xth)z dCxth) v 5
BCxth] W5 = 3n D L 3G rn sl b
11 , . ‘.‘
% 35 |
{(X)“:ZX"‘\ 1CX) = ,-oa‘“/\
(X)) F 20w A
?\C"-i A \f\-) . /] —*C)p{ — /] - /—\/‘" ;]ff‘l' r’". :.-‘T;".‘ /‘{
2 = 5y h
AW _ 2
N
fCx] S+ 3x+5 . A
fOx ) =5 [xth ) 4+ 30x+th) +5

BLR> +:2><h+h27+3x+u\m +5
BSx 0% DRI IR AN TS
515110 xh+5h2+ Bt 3hbS- 5xF _3x— S

Lo fsh et )

h
=\0x +5h —t-s— IOm»s(o)w +3 )

£ 5 ﬂ()
(,X\\ ZK Eai f(x+h) ZC ,\Hﬂ + 50<th)+1D
2C>< + 2xh+ ")+ Hx f%h—ﬂo

23t 4 At 225 X o1 D) |
Xl+ﬂ><\n+2\r\7‘+ +5\ i) - :lxz/ 3\4”\0

Axh Y2V +9h = W (Ax~+2Nx5)
bl

| h .
= Ax-t2h v 5 —4>g°r2(o)+5 = .4\7@3! |

i

Escaneado con CamScanner



| 'Il_“z;ﬁl
£0x) = 2571224344l | ]

F-(X+h) QCx+h) + 2 ( xAh) 2 C><+LQ o
£ (Xt ) = 20 5y h-KCBxV\ 1 \@u(m F e ’)7
FOoth) = 2x2 4 G xth + 6 x 2k 27 e Axht 20 ."

2K AR Al —’r/le M\m 2 h’"+ h%h’tfi

6% ht bxh t+ th*ﬁ—/\r\h r/h ¥ 3
o |

- W (X~ S 20 /\><+1h %5) o +6m "‘2”\’ k42043

l

e (avm + 2.L0]) -+ ~’-’l,’><‘+:¢=-ré L£3]]

Escaneado con CamScanner



| %GT

Lien B X - £00)
W0 s K3 i deg)

.ﬂmx MX w¥4m
*Av./;lf& Nﬁ)\»x:)q 1 mx;., ,v
Lx\mmx +Mxr¥swv wx .r.w.r w.

Liro AfrAxn+ 247 - S R Te s s
h=20 T b ,

| Aat 20 =3.) - Aet 2 2
o £ | DR TR W (K B i R
R _ﬁxxu\ T ) ~>

\ L (4™ _,,,

i A

Z
Q\m.O...:\QN.TNO».OL« o

1 \
R A1 (2 L R 'S al
— Y. -
- S IW
k m q (N .h,... ~¢ 4* ' N 'Uw
- w AN
\ ) — 1
\_“ ./.\, -— m«
- 1IN o
\ ] \ / L.
SR _

(LT 2
— )
!
7
F ‘c'lA
-.““ -4

—
N Sem.

Escaneado con CamScanner



s .-
v

1ig
«
f(x) = b
F (X th) UAm%gA\L )
. fm : 24800 {
LM 4% 141 s 2 e 4 1 2 -
W20 h T vy LN..N& ey | [O+5) =% 2ab+ 6
£1x)= \tmqr X3 Ed L AR rBrh A G £ox Ah#F oA
M et
26}7 A Xith) i&kFhIT3 5 i e
L AOLRN ERE KRS = e A e (et Dt
FAxtash e a2 R E0tS o W
L R+ dhtl = gx 1

L

WO g -t+qla} 31 - ,r a.n

Escaneado con CamScanner



